
¶¯�d¼Ì« |uYÁ�d¼Ì« ¶ËÂve�½Z»� |uYÁ �ZÌ¿��Y|¬» ÓZ¯�s�� ÓZ¯�|¯ ¦Ë{�

˺̊˹˼�˹˻�˺̋ ΩΩϋ 20,000 DT-250(35x35),(R=17)����ϩέϘϣ�̶ΟϧέΑ�̮ηϔ̯�ΕΧΎγ 801522P 1

˺̊˹˼�˹˻�˺̋ ΩΩϋ 3,000 FP-2000����ϩέϘϣ�̶ΟϧέΑ�̮ηϔ̯�ΕΧΎγ 801502P 2

˺̊˹˼�˹˻�˺̋ ΩΩϋ 3,000 EP-1250����ϩέϘϣ�̶ΟϧέΑ�̮ηϔ̯�ΕΧΎγ 801501P 3

˺̊˹˼�˹˻�˺̋ ΩΩϋ 25,000 DT-630(70x70),(R=17)����ϩέϘϣ�̶ΟϧέΑ�̮ηϔ̯�ΕΧΎγ 801519P 4

˺̊˹˼�˹˻�˺̋ ΩΩϋ 15,000 DT-630-US����ϪΧ΍έϭγ�̮Η�̶ΟϧέΑ�̮ηϔ̯�ΕΧΎγ 801504P 5

˺̊˹˼�˹˻�˺̋ ΩΩϋ 3,000 FP-3150����ϩέϘϣ�̶ΟϧέΑ�̮ηϔ̯�ΕΧΎγ 801503P 6

˺̊˹˼�˹˻�˺̋ ΩΩϋ 26,000 DT-250-US����ϩέϘϣ�̶ΟϧέΑ�̮ηϔ̯�ΕΧΎγ 801505P 7

˺̊˹˼�˹˻�˺̋ ΩΩϋ 1,800 M12(60x40)-250A����ϪΧ΍έϭγ�ϭΩ�̶ΟϧέΑ�̮ηϔ̯�ΕΧΎγ 801526P 8

˺̊˹˼�˹˻�˺̋ ΩΩϋ 1,000 R3-4500-US����ϩέϘϣ�̶γϣ�̮ηϔ̯�ΕΧΎγ 801506P 9

˺̊˹˼�˹˻�˺̋ ΩΩϋ 200 1250(70X70)s=12����ϪΧ΍έϭγ4�̮ηϔ̯�ΕΧΎγ 801523P 10

˺̊˹˼�˹˻�˺̋ ̵έγ 300 R3/6300����ϪϓέρϭΩ�̶ΟϧέΑ�̮ηϔ̯�ΕΧΎγ 801508P 11

˺̊˹˼�˹˻�˺̋ ΩΩϋ 2,000 DT-630-US(60x60)����ϪΧ΍έϭγ�έΎϬ̩�̶ΟϧέΑ�̮ηϔ̯�ΕΧΎγ 801524P 12

˺̊˹˼�˹˻�˺̋ ΩΩϋ 100 DT-630(60x60)S=10����ϪΧ΍έϭγ2�̮ηϔ̯�ΕΧΎγ 801500P 13

˺̊˹˼�˹˻�˺̋ ΩΩϋ 1,200 DT-1250-����ϥ̰ηϭ̯�Ρέρ�ϪΧ΍έϭγ�έΎϬ̩��̶ΟϧέΑ�̮ηϔ̯�ΕΧΎγ
US(60x60) 801499P 14

˺̊˹˼�˹˻�˺̋ ΩΩϋ 100 1000����̶ΟϧέΑ�̮ΑΎϘηΑ�ΕΧΎγ 801421P 15

˺̊˹˼�˹˻�˺̋ ΩΩϋ 100 1000����̶ΟϧέΑ�̮ϫϼ̯�ΕΧΎγ 801422P 16

˺̊˹˼�˹˻�˺̋ ΩΩϋ 300 E2000����̶ΟϧέΑ�̮ϫϼ̯�ΕΧΎγ 801424P 17

Â· Ã�¼u ¹�¯Y    Ã|ÀÀ¯ ºÌ�Àe xË�Ze Ze ¹Ô f�Y �Z^f�Y d¸Æ»�Á�§ µÂX�» �Ë|» Z�»Y Á �Æ» |�Z] Ê» ����
��
��

{Â� Ã{Y{�Y�« ([) d¯Za �{

([)ZÆ] ¹Ô f�Y ±�]  
 �xË�Ze����
��
��

���
�½Z´¿� �Ë�Âe �ÂeZ»�Â¨�¿Y�e d¯�� 
(¹Z� Ê»ZÆ�)

�Ä�«ZÀ»
¹Ô f�Y Ã�Z¼�



˺̊˹˼�˹˻�˺̋ ΩΩϋ 1,000 E (630A)����̶ΟϧέΑ�̮ϫϼ̯�ΕΧΎγ 801403P 18

˺̊˹˼�˹˻�˺̋ ΩΩϋ 400 F1000����̶ΟϧέΑ�̮ΑΎϘηΑ�ΕΧΎγ 801428P 19

˺̊˹˼�˹˻�˺̋ ΩΩϋ 400 E1000����̶ΟϧέΑ�̮ϫϼ̯�ΕΧΎγ 801427P 20

˺̊˹˼�˹˻�˺̋ ΩΩϋ 1,000 130x66x42-R3/4500����ϩέϘϣ�̶ΟϧέΑ�̮ΑΎϘηΑ�ΕΧΎγ 801401P 21

˺̊˹˼�˹˻�˺̋ ΩΩϋ 1,000 150x66x24-R3/4500����ϩέϘϣ�̶ΟϧέΑ��̮ϫϼ̯�ΕΧΎγ 801402P 22

˺̊˹˼�˹˻�˺̋ ΩΩϋ 50,000 E(250A)����̶ΟϧέΑ�̮ϫϼ̯�ΕΧΎγ 801404P 23

˺̊˹˼�˹˻�˺̋ ΩΩϋ 400 P1000����̵έΎηϓ�ϪϘϠΣ�ΕΧΎγ 801429P 24

˺̊˹˼�˹˻�˺̋ ΩΩϋ 100 1000����̵έΎηϓ�ϪϘϠΣ�ΕΧΎγ 801420P 25

˺̊˹˼�˹˻�˺̋ ΩΩϋ 100 E3150����̶ΟϧέΑ�̮ϫϼ̯�ΕΧΎγ 801430P 26

˺̊˹˼�˹˻�˺̋ ΩΩϋ 40,000 Y-630-US-20����ϪϳΎ̡�ΎΑ�ϩέϘϣ�̶ΟϧέΑ�ϥγϠΑ�ΕΧΎγ 875051P 27

˺̊˹˼�˹˻�˺̋ ΩΩϋ 30,000 Y-250-US-12����ϪϳΎ̡�ΎΑ�ϩέϘϣ�̶ΟϧέΑ�ϥγϠΑ�ΕΧΎγ 875050P 28

˺̊˹˼�˹˻�˺̋ ΩΩϋ 3,000 3150A����Ϫ̰Η�̮ϳ�̶γϣ�ϥγϠΑ�ΕΧΎγ 875045P 29

˺̊˹˼�˹˻�˺̋ ΩΩϋ 1,000 R3-4500-US-64����ϪϳΎ̡ΎΑ�̶γϣ�ϥγϠΑ�ΕΧΎγ 875075P 30

˺̊˹˼�˹˻�˺̋ ΩΩϋ 400 6300A����Ϫ̰Η�̮ϳ�̶γϣ�ϥγϠΑ�ΕΧΎγ 875541P 31

˺̊˹˼�˹˻�˺̋ ΩΩϋ 3,000 Z-1000-US-30����ϪϳΎ̡ΎΑ�ϩέϘϣ�̶ΟϧέΑ�ϥγϠΑ�ΕΧΎγ 875052P 32

˺̊˹˼�˹˻�˺̋ ΩΩϋ 40,000 M12x118(D=3.5)����̵ϭϗέΎηϓ�̶ΟϧέΑ�ϥγϠΑ�ΕΧΎγ 875047P 33

˺̊˹˼�˹˻�˺̋ ΩΩϋ 1,000 M12X85 -Brass����ϩΩϧΩ�ϡΎϣΗ�̶ΟϧέΑ�ϥγϠΑ�ΕΧΎγ 875100P 34

˺̊˹˼�˹˻�˺̋ ΩΩϋ 1,000 M12x134 250A����̵ϭϗέΎηϓ�ϥγϠΑ�ΕΧΎγ 875049 35

˺̊˹˼�˹˻�˺̋ ΩΩϋ 1,000 M12x95����ϩΩϧΩ�ϡΎϣΗ�̶ΟϧέΑ�ϥγϠΑ�ΕΧΎγ 875085P 36

Â· Ã�¼u ¹�¯Y    Ã|ÀÀ¯ ºÌ�Àe xË�Ze Ze ¹Ô f�Y �Z^f�Y d¸Æ»�Á�§ µÂX�» �Ë|» Z�»Y Á �Æ» |�Z] Ê» ����
��
��

{Â� Ã{Y{�Y�« ([) d¯Za �{

([)ZÆ] ¹Ô f�Y ±�]  
 �xË�Ze����
��
��

���
�½Z´¿� �Ë�Âe �ÂeZ»�Â¨�¿Y�e d¯�� 
(¹Z� Ê»ZÆ�)

�Ä�«ZÀ»
¹Ô f�Y Ã�Z¼�



˺̊˹˼�˹˻�˺̋ ΩΩϋ 2,500 Z-2000-US-42����ϪϳΎ̡ΎΑ�ϩέϘϣ�̶ΟϧέΑ�ϥγϠΑ�ΕΧΎγ 875053P 37

˺̊˹˼�˹˻�˺̋ ΩΩϋ 100 1000A����̶ΟϧέΑ�ϪϳΎ̡�ΎΑ�̶γϣ�ϥγϠΑ�ΕΧΎγ 875052C 38

˺̊˹˼�˹˻�˺̋ ΩΩϋ 200 3150A����̶ΟϧέΑ�ϪϳΎ̡�ΎΑ�̶γϣ�ϥγϠΑ�ΕΧΎγ 875054C 39

˺̊˹˼�˹˻�˺̋ ΩΩϋ 50 Z-2000����̶ΟϧέΑ�ϪϳΎ̡�ΎΑ�̶γϣ�ϥγϠΑ�ΕΧΎγ 875053C 40

˺̊˹˼�˹˻�˺̋ ΩΩϋ 200 M16X105 -Brass����ϩΩϧΩ�ϡΎϣΗ�̶ΟϧέΑ�ϥγϠΑ�ΕΧΎγ 875105 41

˺̊˹˼�˹˻�˺̋ ΩΩϋ 500 M12x118(D=4.5)������̵ϭϗέΎηϓ�̶ΟϧέΑ�ϥγϠΑ�ΕΧΎγ 875078P 42

˺̊˹˼�˹˻�˺̋ ΩΩϋ 500 M12x118(D=5.5)������̵ϭϗέΎηϓ�̶ΟϧέΑ�ϥγϠΑ�ΕΧΎγ 875079P 43

˺̊˹˼�˹˻�˺̋ ΩΩϋ 500 M12x118(D=6.5)����̵ϭϗέΎηϓ�̶ΟϧέΑ�ϥγϠΑ�ΕΧΎγ 875044P 44

˺̊˹˼�˹˻�˺̋ ΩΩϋ 500 M12x118(D=7.5)����̵ϭϗέΎηϓ�̶ΟϧέΑ�ϥγϠΑ�ΕΧΎγ 875042P 45

{{�³�|Ì«��Â¯~»�ÉZÅ�Ä³�]��{�ÃZ´�Á�§�
�d¯���½M���Âe�¶ËÂve�¶]Z«�ªÌ«{�½Z»��c�Â�ÀËY��Ì£��{�|¿{�³�¶ËÂve�Ã|���¯}�½Z»���{�©Â§�¹Ô«Y�d�Y�¹�Ó�,��Z°¿Z¼Ìa�[Zzf¿Y��{�¹Ô«Y�¶ËÂve�½Z»��dÌ¼ÅY�Ä]�dËZÀ��Z]

�ΕΎΤϴοϮΗ
�Ϊη�Ϊϫ΍ϮΧ�ϦϴϣΎΗ�ϥΎ̴ϧί�ϊҨίϮΗ�Ζ̯ήη�ςγϮΗ�ˬΕΎότϗ�ΖΧΎγ�ΖϬΟ�ίΎϴϧ�ΩέϮϣ�̵ΎϫΩή̴Ϡϴϣ�̶ϣΎϤΗ��1

�ί΍�ϩΩΎϔΘγ΍�ϡΪϋ�ΕΎΒΛ΍�ΕέϮλ�έΩ��Ϊη�Ϊϫ΍ϮΧ�ϡΎΠϧ΍�Ζ̯ήη�ϦҨ΍�Ω΍Ϯϣ�ί΍�ϩΩΎϔΘγ΍�ΪϴҨΎΗ�ϭ�̮ϣ�ΩϮΟϭ�ϡΪϋ�ήψϧ�ί΍�̶ΘϓΎҨέΩ�ΕΎότϗ�̵ϭέ�ήΑ�ϡίϻ�̵Ύϫ�ΖδΗ�̶ϣΎϤΗ��2
�Ϊη�Ϊϫ΍ϮΧ�ήδ̯�ϒϠΨΘϣ�έΎ̰ϧΎϤϴ̡�ΕΎΒϟΎτϣ�ΎҨ�ϦϴϣΎπΗ�ϞΤϣ�ί΍�ˬϊҨίϮΗ�Ζ̯ήη�̶ϟΎϣ�έϮϣ΍�ΕΎΒγΎΤϣ�ϖΑΎτϣ�ϪρϮΑήϣ�̵Ύϫ�ϪϤҨήΟ�ˬΖ̯ήη�ϦҨ΍�Ω΍Ϯϣ

�ΩΩή̳�ϝΎγέ΍�ϥΎ̴ϧί�ϊҨίϮΗ�Ζ̯ήη�ϪΑ�ΖδҨΎΑ�̶ϣ�Ύϫ�ϪϟΎϔγ��3

�ΩΩή̳�υΎΤϟ�ήϔλ�ΖδҨΎΑ�̶ϣ�Ζθ̳ήΑ�ϞΑΎϗ�ήϴϏ�ϪϟΎϔγ��4

�ΪηΎΑ�̶ϣ�έΎ̰ϧΎϤϴ̡�ϩΪϬϋ�ϪΑ�Ύϫ�ϪϟΎϔγ�ϭ�ΕΎότϗ�ˬΩή̴Ϡϴϣ�ϝΎγέ΍�ϪϨҨΰϫ�ί΍�Ϣϋ΍�ϞϤΣ�̵Ύϫ�ϪϨҨΰϫ�̶ϣΎϤΗ�5

Â· Ã�¼u ¹�¯Y    Ã|ÀÀ¯ ºÌ�Àe xË�Ze Ze ¹Ô f�Y �Z^f�Y d¸Æ»�Á�§ µÂX�» �Ë|» Z�»Y Á �Æ» |�Z] Ê» ����
��
��

{Â� Ã{Y{�Y�« ([) d¯Za �{

([)ZÆ] ¹Ô f�Y ±�]  
 �xË�Ze����
��
��

���
�½Z´¿� �Ë�Âe �ÂeZ»�Â¨�¿Y�e d¯�� 
(¹Z� Ê»ZÆ�)

�Ä�«ZÀ»
¹Ô f�Y Ã�Z¼�


